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Reasoning Mega Quiz for RRB NTPC (Solutions)

$1. Ans.(d)
Sol.
1 2 6 12 36 72

| 4| el xl 4| A
xD %3 ®2 x3 %D ®3

S$2. Ans.(a)

$3. Ans.(c)
Sol.
133 +11-26=x6+ 13+ 19

= 57

$4. Ans.(d)
Sol.
4—-1=3 5—-1
7-1=6 9-1
2-1=1, 1-1
S0, 102 is correct.
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S5. Ans.(c)
Sol.

Both conclusion follows. 6 Months Subscription

$6. Ans.(b) DDDD ANNTDNM

Sol.

NN SUPREME
N Nt

So, opposite face of 5 All Railway Video Courses
=1
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S$7. Ans.(b)

$8. Ans.(d)
Sol.

Carnivorous

$9. Ans.(c)

$10. Ans.(b)

$11. Ans.(c)

Sol.
+3 .

Q—T S0, A—D
+3 +3

S5—V C——F
+3 +3

U—X E——H
+3 +3

W——Z G—]

$12. Ans.(d)

Sol.

12x5-6=54

So, 15 x5 - 6= 69

$13. Ans.(a)
Sol. We get interest from capital.

$14. Ans.(c)
Sol. All the three numbers are odd numbers.

$15. Ans.(d) CRASH COURSE

Sol. Currency is different from others LIVE BATCH

A
$16. Ans.(c) ULTIMATE

Sol. Complete Package
3672 = First two digit x 2 = Last two digit. s o

So, 2849 does not follow the above pattern. R R B N T PC
517. Ans.(c) All SUBJECTS

Sol.
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$18. Ans.(b)

Sol.
33 28 24 19
-5 -4 -3 -2 -1
$19. Ans.(c)
Sol.

Two alternating series in one
1, 2, 4, 3, 9 4

16, 5, (:]3 6
| | ] | Square

Consecutive
Numbers

$20. Ans.(a)
Sol. Shan(55)>Sathian(50)>Balan(44)>Devan(37),
55-37 =18 years

$21. Ans.(d)

Sol.

Distinguish— Similar} Antonyms
Short — Lengthy

$22. Ans.(b)

Sol.

$23. Ans.(a)
Sol. Pair of opposite letters

S24. Ans.(b)
Sol.
2+5=7

Similarly, 8+ 1=9

$25. Ans.(d)

Sol. Momentum, there is no ‘v’ in environment.

$26. Ans.(b)
Sol. Except Rabbit, all other animals have horn.
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$27. Ans.(c)

Sol. Except HFE (option c), -1 pattern series in all others. 6 Months Subscription

$28. Ans.(a)

Sol. Z is opposite to C. D D D kl T D p
$29. Ans.(b) S U
Sol. Difference is +2,+4,+8 P RE M E

Hence, next termis H +8 = P

All Railway Video Courses

$30. Ans.(c)
Sol.
CD GHI MNOP UVWXY
L | L ] ]
+3 +4 +5
2 terms 3 terms 4 terms 5 terms
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